#### PSC NO: 87 GAS NEW YORK STATE ELECTRIC & GAS CORPORATION EFFECTIVE DATE: 10/01/2003

STATEMENT TYPE: NGV STATEMENT NO: 81

# STATEMENT OF NATURAL GAS VEHICLE RATE

### October 01, 2003

#### Owego Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor per Therm	Rate per Gal. EquivInt	Market Ceiling per Therm		Applicable Gas Vehi per Therm	
Category 1A	\$0.9803	\$1.118	\$1.5199	\$1.733	\$1.2996	\$1.482
Category 1B	\$0.9803	\$1.118	\$1.5430	\$1.759	\$1.1598	\$1.322
Category 1C	\$0.9803	\$1.118	\$1.1815	\$1.347	\$1.0700	\$1.220
Category 2A	\$0.9999	\$1.140	\$1.5199	\$1.733	\$1.3191	\$1.504
Category 2B	\$0.9999	\$1.140	\$1.5430	\$1.759	\$1.1793	\$1.345
Category 2C	\$0.9999	\$1.140	\$1.1815	\$1.347	\$1.0895	\$1.242
WITH COMPR	ESSION:					
Category 3A	\$0.8551	\$0.975	\$1.5199	\$1.733	\$1.1239	\$1.281
Category 3B	\$0.8551	\$0.975	\$1.5430	\$1.759	\$0.9473	\$1.080
Category 3C	\$0.8551	\$0.975	\$1.1815	\$1.347	\$1.0504	\$1.198
WITHOUT CO	MPRESSION	:				
Category 3A	\$0.8354	\$0.953	\$1.5199	\$1.733	\$1.1044	\$1.259
Category 3B	\$0.8354	\$0.953	\$1.5430	\$1.759	\$0.9278	\$1.058
Category 3C	\$0.8354	\$0.953	\$1.1815	\$1.347	\$1.0309	\$1.175
Category 4	\$0.9999	\$1.140	\$1.5199	\$1.733	\$1.3190	\$1.504

#### STATEMENT OF NATURAL GAS VEHICLE RATE

### October 01, 2003

### <u>Goshen</u>

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor F per Therm	Rate per Gal. EquivInt	Market I Ceiling per Therm		Applicable Gas Vehic per Therm	
Category 1A	\$1.0124	\$1.154	\$1.5313	\$1.746	\$1.3093	\$1.493
Category 1B	\$1.0124	\$1.154	\$1.5430	\$1.759	\$1.1598	\$1.322
Category 1C	\$1.0124	\$1.154	\$1.2059	\$1.375	\$1.0920	\$1.245
Category 2A	\$1.0321	\$1.177	\$1.5313	\$1.746	\$1.3289	\$1.515
Category 2B	\$1.0321	\$1.177	\$1.5430	\$1.759	\$1.1794	\$1.345
Category 2C	\$1.0321	\$1.177	\$1.2059	\$1.375	\$1.1116	\$1.267
WITH COMPRESSION:						
Category 3A	\$0.8590	\$0.979	\$1.5313	\$1.746	\$1.1452	\$1.306
Category 3B	\$0.8590	\$0.979	\$1.5430	\$1.759	\$0.9474	\$1.080
Category 3C	\$0.8590	\$0.979	\$1.2059	\$1.375	\$0.9920	\$1.131
WITHOUT CO	MPRESSION:	:				
Category 3A	\$0.8392	\$0.957	\$1.5313	\$1.746	\$1.1257	\$1.284
Category 3B	\$0.8392	\$0.957	\$1.5430	\$1.759	\$0.9278	\$1.058
Category 3C	\$0.8392	\$0.957	\$1.2059	\$1.375	\$0.9725	\$1.109
Category 4	\$1.0321	\$1.177	\$1.5313	\$1.746	\$1.3289	\$1.515

### STATEMENT OF NATURAL GAS VEHICLE RATE

## October 01, 2003

### Lockport Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor F per Therm	Rate per Gal. EquivInt	Market E Ceiling per Therm		Applicable Gas Vehic per Therm	
Category 1A	\$1.0919	\$1.245	\$1.5435	\$1.760	\$1.3197	\$1.505
Category 1B	\$1.0919	\$1.245	\$1.5435	\$1.760	\$1.3197	\$1.505
Category 1C	\$1.0919	\$1.245	\$1.2022	\$1.371	\$1.0919	\$1.245
Category 2A	\$1.1116	\$1.267	\$1.5435	\$1.760	\$1.3392	\$1.527
Category 2B	\$1.1116	\$1.267	\$1.5430	\$1.759	\$1.1793	\$1.345
Category 2C	\$1.1116	\$1.267	\$1.2022	\$1.371	\$1.1116	\$1.267
WITH COMPR	ESSION:					
Category 3A	\$0.8554	\$0.975	\$1.5435	\$1.760	\$1.0928	\$1.246
Category 3B	\$0.8554	\$0.975	\$1.5430	\$1.759	\$0.9473	\$1.080
Category 3C	\$0.8554	\$0.975	\$1.2022	\$1.371	\$1.0258	\$1.170
WITHOUT COI	MPRESSION:					
Category 3A	\$0.8358	\$0.953	\$1.5435	\$1.760	\$1.0733	\$1.224
Category 3B	\$0.8358	\$0.953	\$1.5430	\$1.759	\$0.9278	\$1.058
Category 3C	\$0.8358	\$0.953	\$1.2022	\$1.371	\$1.0063	\$1.147
Category 4	\$1.1116	\$1.267	\$1.5435	\$1.760	\$1.3392	\$1.527

# STATEMENT OF NATURAL GAS VEHICLE RATE

# October 01, 2003

# Elmira Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based Ceiling Rate		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	EquivInt	Therm	EquivInt	Therm	EquivInt
Category 1A	\$0.9973	\$1.137	\$1.5304	\$1.745	\$1.3086	\$1.492
Category 1B	\$0.9973	\$1.137	\$1.5430	\$1.759	\$1.1598	\$1.322
Category 1C	\$0.9973	\$1.137	\$1.1815	\$1.347	\$1.0700	\$1.220
Category 2A	\$1.0170	\$1.160	\$1.5304	\$1.745	\$1.3280	\$1.514
Category 2B	\$1.0170	\$1.160	\$1.5430	\$1.759	\$1.1793	\$1.345
Category 2C	\$1.0170	\$1.160	\$1.1815	\$1.347	\$1.0895	\$1.242
WITH COMPR	ESSION:					
Category 3A	\$0.8451	\$0.964	\$1.5304	\$1.745	\$1.1201	\$1.277
Category 3B	\$0.8451	\$0.964	\$1.5430	\$1.759	\$0.9473	\$1.080
Category 3C	\$0.8451	\$0.964	\$1.1815	\$1.347	\$1.0593	\$1.208
WITHOUT COI	MPRESSION:					
Category 3A	\$0.8255	\$0.941	\$1.5304	\$1.745	\$1.1006	\$1.255
Category 3B	\$0.8255	\$0.941	\$1.5430	\$1.759	\$0.9278	\$1.058
Category 3C	\$0.8255	\$0.941	\$1.1815	\$1.347	\$1.0399	\$1.186
Category 4	\$1.0170	\$1.160	\$1.5304	\$1.745	\$1.3280	\$1.514

STATEMENT OF NATURAL GAS VEHICLE RATE

# October 01, 2003

## **Combined Area**

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based Ceiling Rate		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	EquivInt	Therm	EquivInt	Therm	EquivInt
Category 1A	\$0.9973	\$1.137	\$1.5199	\$1.733	\$1.1520	\$1.314
Category 1B	\$0.9973	\$1.137	\$1.5430	\$1.759	\$1.1598	\$1.322
Category 1C	\$0.9973	\$1.137	\$1.2332	\$1.406	\$1.1167	\$1.273
Category 2A	\$1.0170	\$1.160	\$1.5199	\$1.733	\$1.1520	\$1.314
Category 2B	\$1.0170	\$1.160	\$1.5430	\$1.759	\$1.1793	\$1.345
Category 2C	\$1.0170	\$1.160	\$1.2332	\$1.406	\$1.1362	\$1.296
WITH COMPR	ESSION:					
Category 3A	\$0.8451	\$0.964	\$1.5199	\$1.733	\$1.1214	\$1.279
Category 3B	\$0.8451	\$0.964	\$1.5430	\$1.759	\$1.1406	\$1.301
Category 3C	\$0.8451	\$0.964	\$1.2332	\$1.406	\$1.0512	\$1.199
WITHOUT COI	MPRESSION:					
Category 3A	\$0.8255	\$0.941	\$1.5199	\$1.733	\$1.1019	\$1.256
Category 3B	\$0.8255	\$0.941	\$1.5430	\$1.759	\$1.1213	\$1.279
Category 3C	\$0.8255	\$0.941	\$1.2332	\$1.406	\$1.0317	\$1.176
Category 4	\$1.0170	\$1.160	\$1.5199	\$1.733	\$1.1520	\$1.314

# STATEMENT OF NATURAL GAS VEHICLE RATE

# October 01, 2003

## **Binghamton Area**

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based Ceiling Rate		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	EquivInt	Therm	EquivInt	Therm	EquivInt
Category 1A	\$0.9803	\$1.118	\$1.5199	\$1.733	\$1.2996	\$1.482
Category 1B	\$0.9803	\$1.118	\$1.5430	\$1.759	\$1.1564	\$1.319
Category 1C	\$0.9803	\$1.118	\$1.1815	\$1.347	\$1.0700	\$1.220
Category 2A	\$0.9999	\$1.140	\$1.5199	\$1.733	\$1.3191	\$1.504
Category 2B	\$0.9999	\$1.140	\$1.5430	\$1.759	\$1.1543	\$1.316
Category 2C	\$0.9999	\$1.140	\$1.1815	\$1.347	\$1.0895	\$1.242
WITH COMPR	ESSION:					
Category 3A	\$0.8732	\$0.996	\$1.5199	\$1.733	\$1.1199	\$1.277
Category 3B	\$0.8732	\$0.996	\$1.5430	\$1.759	\$0.9473	\$1.080
Category 3C	\$0.8732	\$0.996	\$1.1815	\$1.347	\$0.9665	\$1.102
WITHOUT COI	MPRESSION:					
Category 3A	\$0.8535	\$0.973	\$1.5199	\$1.733	\$1.1004	\$1.255
Category 3B	\$0.8535	\$0.973	\$1.5430	\$1.759	\$0.9278	\$1.058
Category 3C	\$0.8535	\$0.973	\$1.1815	\$1.347	\$0.9470	\$1.080
Category 4	\$0.9999	\$1.140	\$1.5199	\$1.733	\$1.3191	\$1.504

STATEMENT OF NATURAL GAS VEHICLE RATE

# October 01, 2003

## **Champlain Area**

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based Ceiling Rate		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	EquivInt	Therm	EquivInt	Therm	EquivInt
Category 1A	\$0.8941	\$1.019	\$1.5313	\$1.746	\$1.3093	\$1.493
Category 1B	\$0.8941	\$1.019	\$1.5430	\$1.759	\$1.1598	\$1.322
Category 1C	\$0.8941	\$1.019	\$1.2059	\$1.375	\$1.0920	\$1.245
Category 2A	\$0.9138	\$1.042	\$1.5313	\$1.746	\$1.3288	\$1.515
Category 2B	\$0.9138	\$1.042	\$1.5430	\$1.759	\$1.1793	\$1.345
Category 2C	\$0.9138	\$1.042	\$1.2059	\$1.375	\$1.1115	\$1.267
WITH COMPR	ESSION:					
Category 3A	\$0.7536	\$0.859	\$1.5313	\$1.746	\$1.1468	\$1.308
Category 3B	\$0.7536	\$0.859	\$1.5430	\$1.759	\$0.9473	\$1.080
Category 3C	\$0.7536	\$0.859	\$1.2059	\$1.375	\$1.0386	\$1.184
WITHOUT COI	MPRESSION:					
Category 3A	\$0.7339	\$0.837	\$1.5313	\$1.746	\$1.1273	\$1.285
Category 3B	\$0.7339	\$0.837	\$1.5430	\$1.759	\$0.9278	\$1.058
Category 3C	\$0.7339	\$0.837	\$1.2059	\$1.375	\$1.0191	\$1.162
Category 4	\$0.9138	\$1.042	\$1.5313	\$1.746	\$1.3288	\$1.515